a)

/)
t=80,y/=23 1840
t=20,y/=24 480
R + t=40 200
t=150,y=24 F 3800 (2970)
250 6570
t=80,y/=23 1840
t=20,y/=24 480
+ t=40 200
H=500 10000
t=165,y=24 F 4160 (12970)
250 16930
0A 700
H=75+t=90 vy=24 3260 (2050)
250 4210
0] 700
we H=75+t=90 vy=24 3260 (2050)
250 4210
t=80,y/=23 1840
t=20,y/=24 480
16 + =40 200
t=150,y=24 F 3800 (2970)
250 6570
0A 700
15 H=75+t=90 vy=24 3260 (2050)
250 4210
t=300,vy=23 6900
14 t=165,y=24 F 4160 (7350)
250 11310
0A 700
14 H=75+t=90 vy=24 3260 (2050)
250 4210
700
3 t=165,y=24 F 4160 (1150)
250 5110
0A 700
2 H=75+1t=90 vy=24 3260 (2050)
250 4210
0A 700
2 t=165,y=24 F 4160 (1150)
250 5110
+ 1200
1 t=180,y=24 4520 (3810)
250 5970
+ 1200
1 t=180,y=24 4520 (1650)
250 5970




6570 1800 1800 1300 600| 8370 8370 7870 7170

16930 1800 1800 1300 600| 18730 18730 18230 17530

4210|2900 2900 1800 800 7110 7110 _ 6010 5010

we 4210|1800 1800 1300 600 6010 6010 5510 4810

10 6570 1800 1800 1300 600| 8370 8370 7870 7170

o 4210|2900 2900 2600 1600 7110 7110 6810 5810

o 11310) 5000 5000 4000  3000| 16310 16310 15310 14310

o 4210|2900 2900 2600 1600 7110 7110 6810 5810

® 5110/ 5000 5000 4000  3000| 10110 10110 9110 8110

2 4210|2900 2900 2600 1600 7110 7110 6810 5810

2 5110/ 5000 5000 4000  3000| 10110 10110 9110 8110
1

5970| 1800 1800 1300 600| 7770 7770 7270 6570

! 5970 1800 1800 1300 600 7770 7770 7270 6570

1000




0.6 x 3.788 x 3 2= 262716 / - 2650 /

© §= 3.788 > b = 1.7 / )Y = 1.376
2 b= 5
0 34 ¢= 350
a= 0.15
= 85.60 * = 85.600
> 10m = 2.00

= 0.4
0.6 x 2.561 x 34 2= 1776.1 / o 1800 /
2 o= 2.561 > b L= 1.7 / )%= 1.003
2 b= 5
0 34 6= 350
a= 0.15
= 18.40 * = 18.400
> 10m ¢=  2.14

0.4



